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One of the following methods possesses the characteristic of
‘Objectivity’ at the highest level.

1. Observation method
2. Interview method

3. Case study method

4. Experimental method

geTd A U faier ot fersuerar &6t faotwar 3iféres @t 8
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AreiTeprz fafer
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One of the following is not related to the scope of Educational

psychology
1. Methods of Learning

2. Educational philosophy
3. Development of thinking
4. Educational statistics

I o1 FAfasTTer oo eRR A Hdttra 3ier 5l 3.
Jat & aRib
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2. ferp gofa
3. Ridge o
4. b 3P



Fill in the blank

Development = f (maturation X )
1. Intelligence
2. Imitation
3. Learning
Personality
ﬁﬁﬁm =f(aRug@ar x _____ ) Raa e &
gfd Fifsel
1. s
2. 3B
3. 31
4. AfFaa

The following statement is not related to cross — sectional

approach

1. The same sample will be observed for a long period

2. Short term observation

3. It won’t examine the cause and effect relationship
between variables

4. Variables are observed several times at specific

intervals

gId A PlerA fau 3 ot iafRienais giesdor @

Faftra =gt 81
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Which of the following theory is known as ‘constructivist

approach’.

1. Self-concept theory

2. Pioget’s Cognitive development

3. Kohlberg’s moral development theory

4. Thorndike’s Trial and error theory

T A DA RIgid ITTaIG! gRedIvT & FT H Sl
ST gl

1 ¥-31aeRT g

2. Tme & dAseneAs A &1 Rigia
3.  Pigetadl &1 Afae fasbr &1 Rigid

4 ATeETER B T Ud e &1 Rigia

One of the following does not belong to the tests regarding
DAT (Differential Aptitude Test)

1. Concrete Reasoning

2. Abstract Reasoning

3. Verbal Reasoning

4. Spatial Relations

A A TP [aded Apias erdar (DAT) uieion A
Ad ab
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HAifEp ab

gl Hae
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One of the following aspects of aptitudes helps to guide the
selection of courses for one’s future

1. Scholastic aptitude

2. Aesthetic aptitude

3. Differential aptitude

4. Vocational aptitude

Tl TP SIS A A U, i gRT g Sieiaret
UTeIhd & A A APeefa B | Fee Pl Bl

1. daifrs, uiptas ardan

2. AlcdueP BellcHDp 2T

3. fadics wipiaes qraal

4. IIANAS FTAID 1T

Chaplin’s dictionary of psychology defined Adjustment as

“The _______in the activities of an individual in overcoming
obstacles and fulfilling needs”

1. Intelligence

2. Variations

3. Learning

4, Conflicts

duferer F1 SaereRt 31T ATSHIcTSN aTensii Bt §F He
3R ST=2dl Bt GRT Bt Biew it ofta & el & ...
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10.

Find the odd pair

1. L.L. Thurston — 7 types of mental abilities

2. Gardener — 8 types of intelligence

3. Spearman — three factor theory

4. Thorndike — multiple factor theory

IH A Ig Jeid oA 3

1. IATA. AR - bR Pl AIRAD AT
2. INEHR-8 UBR B Fheg

3. TRRAG- RS Fgid

4.  TcisTs® - Igamare Rigia

The defense mechanism where the person’s painful
experiences are forgotten by sending them to the unconscious
mind is known as

1. Displacement
2. Sublimation
3. Repression
4. Regression
TdelTeh 31aTal Pl e H TBABT YAl aell TH TBR
P 227 g & 3iaofa 3mar B
IGESICH

1

2 3ISTABROT
3. A

4 PIGDIEG
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Find out the correct statement with regard to learning

1. Learning is a process, not the product

2. Learning means only product, not the process
3. Learning means temporary change

4. No relation between learning and maturity
3TRPTHA & Ade H UG HAT Al o

1.  3iftere ue uieen 3, uRome &3

2. 3P ve Uik =gl

3.  3ifore &1 3rf 3Ry uRRade

4 31feRTe B aRueadar 3 Bis Jde gl gl

A student to choose either Maths or Biology as his course of
study where he is interested in photography. This comes under
the following type or conflict

1. Approach - Approach

2. Approach - Avoidance

3. Avoidance - Avoidance

4. Double approach - Avoidance

U® B Sl BISITh! TS BIdT 3 3A IIvrd a7 S
st faweit & U d1 getell UusT Sl 37 UG g1 gl T
A UBR & JOUY & 3idoid 31ar 2l
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ulER - uREgR

fg3uore - uRErR

= L hpo=

The individual factor that influences learning

1. Aptitude
2. Home environment
3. Curriculum

4. Difficulty level of the item of learning

TR A MBI B Tafad BAarer SAfedord BRE 3
Agol AT

3l G I GRAY |
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Which one of the following belongs to affective domain
1. Imitation

2. Manipulation

3. Analysis

4. Valuing

SIR HATcHD 315 A Fdfd g

1. 3D

2. B dld

3. faeciwur ween

4.

T cToTTeT|
According to Maslow’s ‘theory of hierarchy of needs’, the

highest level of need
1. Physiological need

2. Recognition need
3. Safety need
4. Self-actualization

AR & MABAIS & USThH RIgid & AR I
3TdA TR P TRl &

MRIRG 3Mmaerhdr

UgdTel &l 3BT

JR&T DI SMALTBA

3MTCHAIE B STALBT

= L b=

The first stage of concept formation

1. Comparison with past experiences

2. Identification of common characteristics in past
experiences

3. Acquiring sensations through sense organs

4. Expressing common characteristic in the form of
symbols

3raeRun3N & fordlTor & I ugenm WRoT 3

1. Usa segem@l & geten

2. fTuse srgeral @ A fAQdwanstt @t ugare

3. SR & ALIH A HAGEAU IId Bl

4 ATAT fIATar3n Bl Fbdl b HY A A Bl
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18.
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The following is not the characteristic of “Perception’

1. Perception depends on Sensations

2. Perception involves meticulous observation

3. Perception can be directly ascertained

4. Perception involves attention and thinking

foreat & aIg emRon &) RIowar &g 2l

1. RO Hdgenall o= ferafs @edt 2l

2. ORUN H JgH 3aciidbe A gl

3. €O el &bl T UdT eIoTR—IT S AhdT gl
4.  ERUN A a1 37T AT MiHA B
‘Tachistoscope’ instrument is used for the assessment of
1. Personality

2. Attitude

3. Span of attention

4. Intelligence

$AB Acdidhe A CRRER®BIU BT IuAToT [T ST 3l
1.  iadd

2. Al

3. & @iy
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The type of transfer of learning occurs when a ball badminton
player starts learning shuttle badminton

1. Positive
2. Negative
3. Zero

4. Bilateral
A BT WITETAROT a9 AT Sl dl § oI dTed dsfdHee

Fzare & oafea dsfHes MAzrar 3
1 HADBRIcHD

2 SABRTIcHD

3.

4.  Tguaha

Identify the wrong pair

1. Instructional theory - Bruner

2. Classical conditioning - Skinner
3. Insightful learning - Kohler

4. Cognitive development - Piaget
SelA IcTd SISl Ugefelv
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The term ‘group Dynamics’ was introduced by
1. Koffka

2. Bandura

3. Kurt Lewin

4. Carl Rogers

AAg JcaeficTdr 3H I Bl Fegiel URTT FHAT|
1 PIBhT

2. dgz

3. e afad
4 Bt IoTA

Curriculum refers to

1. Curricular

2. Curricular + co-curricular

3. Co-curricular + Extra curricular

4. Curricular + Co-curricular + Extra curricular

uTeTal A arcad I8 3
ure

Uy + Ag U
AZUTT + UTGAaR
e + AU + UTeddR

RN e

Etiquette to be followed while using internet

1. Netiquettes

2. Online formalities

3. Online Regulations

4, Net formalities

3iqelied B IUAOT HId JHT 3TUATU Siadiat PRIEER
g B
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2.  3ifadrsa stuaiean
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4. e 3vafeane
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Total Chapters, and parts in NEP - 2020
NEP - 2020 # PeT 31€3 37 A1 I Bl

1. 5, 20
2. 8, 25
3. 27, 4
4. 15, 5

Expand ‘DIKSHA’

1. Digital Infrastructure for Experience sharing
2. Digital Infrastructure for Knowledge Sharing
3. Digital Intelligence for Experience sharing

4. Digital Intelligence for Knowledge sharing

‘DIKSHA’ &7 [aRdaR 3u &l uganfere|

3IIHT AT B Diel? fsforea gierand s
SITel AT B3 dioe fitea gierandt af=n
3IIHT AT P Biew fstea gherandt Rfersia
3IHT AT P Biew fstea gherandt Rfersia

L

The main objective of National Mission of F.LL.N

1. To enhance Vocational skills

2. for reading & writing

3. for Adult Education

4. for primary literacy and numeracy skills
F.LN & I T &1 3T 39T TG 3
1.  IEOATIS A H g

2.  Yed 3R foaa dfew
3. e foren Hfew
4 TTRITHG HIRRAT 31T JASAT ST Bicv
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The maximum storage capacity of ‘CD’

1. 1 GB

2. 700 MB

3. 10 GB

4. 1 TB

‘CD’ S B} 31fpdd HSRUT THAT Bl UgATeIC|
1 1 oit.t

2. 700 .

3. 10 St

4 1 &1

‘LED’ stands for

1. Light Emitting Diode
2. Light Emitting Display
3. Light Explore Display
4. Light Explore Digital

‘LED’ ITell ......

1 UBIT IcTSIsIP SHIS
2. SBI90 eI Uefed
3.  se 3y fsua
4 drsc 3rauvr fsfsesa

Minimum Attendance for ‘Amma Vodi’ scheme eligibility

3FA3MNNE Aisten usIaT Biav gaasd uRafd I 3
1. 70%

2. 75%
3. 80%
4. 60%

Author of the book “Civilization and Progress”
1. Gandhiji

2. Radha Krishnan

3. Ambedhkar

4. Tagore

A¥AT 3T Tl 3T & AP A 3
1. onefsh

2. AATHWEA

3. 3iwgdR

4. SRR
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utelt - ufe ufe sor F3m, dfsa er=m & Sl
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3.
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SNl 9 eIl Sireldn gl
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3RS Uid # U G99 UHR &1 g &A1 gl s

clibeicd BT TRH AU =ATHB g A 31| Jg AR

3R oy gt & et & s sirar 3
A1 T A% I B
1.  SE-Omel & JAHT

2. 9 I & AATA
3. didpge & AT
4.  cBoNal b AATA
s & bt oig §2?

1. =

2. FR

3. U™

4. @

o YU & Bgl, UG dl B A | A T A
T’ T TA AdAH Bl JFfad Har gl

1 feroraras Idams
2. feroarame Adams
3. gHuaras AderH
4.  YoedTED AdTH
ST A1 AdATH & IO, oM, THTT HI AT FA
fadivor & gt 3.
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2.  JUrETEd faeieor
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1

2. AT
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gen A 3l gl R S A2 gom|
IHifpd 21 BT Il decidl U I3 TG 3

1 Rif3 )|

2. udemd

3. ufvemy

4 urem3i

aIT SAD! AT A 3refare, Fgferd vd depe gear
B

1. R Rga

2. Hia e

3. g fuge

4 Ol fage

AR THTTH HAGIBIT & Bid gl
1 goaRerA

2 PHraeTH

3 gerdiarA

4 FARAETH
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1.  Jgd SAee glel
2 ag?rgzgﬂgﬁa'r
3. 9gd IS Pl
4,  dgd @Rd gl
3TN 3R gReele A 52 3§ BT AsAerd SIThR!
®I AN db UgdTe aret AEd -
. gHIR AR



44,

45.

46.

47.

48.

3MEHT oI BT i feior B -

1.  #Aefel

2. ofelreln

3. S

4 3=a

fSro1h 3ma &t falreer s11er & 3,
q TP 9l UBATTT

1 3TeP

2 3ifater

3 K EICE]

4 3TerAl

‘Hg A ITH oI A BI Al o1 37ef ugEferw|
PUC AT b BIdl

1.

2. o Bl T zme

3. Hd A BUS U AT B fGHTEr B
4.,  TAHS I Bl T Bl
foreat ol A fgaaer o uganferw
1. fg=

2 el

3 THDIR

4. g

foreet oIl A AYHIRR K UGATTeI?
1.  3Uciteer

2. Ukl

3. B

4. TEE
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ag 31 3, TS dTRI 3H Bl A g -

1 dlchifeted adaATe

2. HATHAT qdHATe

3. yof ad#Te

4 Jfeoer adaAre

foreet & T HA aren areR uganew

1. 3MYHATE HRA Peg AXBR Pl TR Jlefel 3l
2. AR AISTll dheg AIBR B SMYHTT AR ol
3. dheg WIPR § ANl RIS HRdA’ A B
4. YA HRA’ TR Heg ATBR B Jtofel gl

ST 318107 Bt Biferaret i1 32

1. auf

2. o=

3, B

4. el

foreet oSl A A aH HU ugATterv|

1. 3mr

2. 3nfar

3. 3ifa

4. 3MOal

o AE auiaeds ugate|

. g +3+FTA+J+3M+q+ 3
2. FAE+F+J+J+IM+T+ 3
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4, FH+B+F+ A+ + A +q+ 30
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SeY & Ul - 3eHTE AT

TG BR® fuger ugarferw|
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2. W

KT |

4. @I

3Rl fhet gt ol A T B

1. 3T+ aru
2. 3q+ aRu
3. 3+ =R
4. IB 4 TRU

3TTSfide g 39T T T3 |

IFThd oI BieT AT IAAA B

1. &g JAAd

2. Tgoy weA

3. 3iRNAE JAATH

4, AAYHY AHATA

Jd e 3ifdRme &1 |2 A9 ue - |G T2
JTTieha o1eg @1 31f ugHTtelw

1. Tt &1 i ufdagar

2. AT BT AH

3. & & 3T &) Rerfa

4.  dcgteTsar

ITGTT Y 3MMST T UTelel Pell FHART BT gl
IFifha o &1 faeage ugmiev|

1. 3r@sn

2. 3Ere

3. 37usm

4, 37gEl
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3tfaR<r u9elt &b 37T =T St =igt gl

JTTITehd 2l H IUTT Ugaelv|
1. 3@
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3.  3nfa
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qeITE Herm A ISt Ul 3
IFifhd g A YT &I ugEfeiv|
1. 3

2. 38
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How would you refuse your neighbour’s request for
permission to use your new mobile phone?

Choose your response from the following.

1. Sorry, it is not possible. I want to present it to my
friend.

You are not a good man. So, I don’t give it to you.
Thank you very much!

It doesn’t matter.

2.

3.

4.

Choose the sentence that can be used to give a suggestion.
1. I’d love to.

2. Oh, that’s a good idea!

3. Hearty congratulations!

4. We’d better go to a movie.

Choose the option that should be included at the top right hand
side of a formal letter.

1. recipient’s address
2. sender’s address
3. date

4. salutation

The primary purpose of a biographical sketch is:

1. to entertain the reader with anecdotes

2. to capture the essence of someone’s life in a concise
manner.

3. to provide a detailed account of a person’s entire life

without facts.

4. to analyze the psychological motivations of the subject.
Choose the correctly punctuated sentence.
1. What’s come over you, master? he asked.
2. “What’s come over you, master,” he asked.
3 What’s come over you master? he asked
4 “What’s come over you, master?” he asked.
Trains do not / run / very fastly / on this track.

A B C D
Choose the part that has a grammatical error.
1. A
2. B
3. C
4. D
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72.

Choose the suffix that suits to get the adjectival form of the
word ‘beauty’

1. ful
2. full
3. fully
4. ness

The word ‘deplorable’ has stress on:
1. The first and the third syllables

2. the second syllable
3. the third syllable
4. the first syllable

Choose the meaning of the idiom ‘at a loss’.

1. to do it intentionally

2. not knowing what to do.

3. to make someone angry.

4. to take advantage.

Why don’t you _ your ideas on paper?
Choose the option that fits the blank.

1. set up

2. set in

3. set out

4. set down

Choose the mis — spelt word out of the given options
1. tingles

2. vibration

3. resonences

4. intriguing

Choose the option that can be used as a one — word substitute

for “one who spends too much”.
1. spendthrift

2. theist

3. linguist

4 mercenary



73.

74.

75.

76.

77.

You really gave me a fright when you crept up behind me like
that.
Choose the synonym of the word ‘fright’

1. comfort
2. soothe
3. startle
4. solace

Siva Subramanialyer was not perturbed, nor did he get angry
with his wife.

Choose the right pair of opposite words of the word
‘perturbed’.

disturbed - worried

rattled - pacified

tranquilized - soothed

discomposed - confused

sl S

Choose the sentence with the correct use of articles

1. Children play the cricket.

2. The children play cricket.

3. Children play cricket.

4. The children the play the cricket.

She had always been bad languages.
Choose the preposition that fits the blank.

1. over

2. at

3. with

4 in

Fire and water had damaged the desk before the author found
1t.

In the above sentence ‘had damaged’ describes:

1. near future

2. future

3. earlier past

4 unreal past
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79.

80.

81.

82.

83.

Gathergold is arriving tomorrow.
The above sentence indicates:

1.

2
3.
4

past time

future time
present time
discontinued past.

Someone asked, “Why has thief left the vest behind?”
Choose the reported speech of the sentence above.

1. Someone asked who had the thief left the vest behind.

2. Someone asked why the thief had left the vest behind.

3. Someone asked why has the thief left the vest behind?

4 Someone asked why if the thief had left the vest
behind?

Elections to the LokSabha ___every five years.

Choose the option that completes the sentence meaningfully.

1. are held by

2. 1s hold by

3. were hold to

4 are held

There _______ alot of people in the park.

Choose the verb that fits the blank.

1. 1S

2. isn’t

3. was

4. were

Identify the noun clause from the following.

1. I will not go until he arrives

2. Come when you like.

3. I know the girl who won the prize

4. I know you have great regard for me.

Choose the interjection that shows ‘hesitation!’

1. Ev!

2. Oh!

3 Ah!

4 Oho!
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85.
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Choose the word that is a noun from the following.
1. humble

2. blunt
3. impolite
4. datum

His father was a high school teacher. He was an avid reader of
English literature.
Identify the true statement about the sentences given below.

1. Both are complex Sentences

2. Both are in present tense

3. Bothe the sentences can be combined as a single
sentence using ‘and’

4. Both are not simple sentences.

The tour guide was ______ informative that we did not need to

read our guide book.
Choose the word that fits the blank.

1. neither

2. N

3. either

4. in spite of

She was unable to attend the party her marriage
engagement.

Choose the correct phrasal preposition that fits the blank.
1 in addition to

2. due to
3. in case of
4. in place of

May I use your mobile phone?
The above sentence indicates:

1. making a suggestion
2. expressing possibility
3. giving permission

4. taking permission
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90.

Read the following passage.

Even researchers are finding that introverts make better leaders
than extroverts for the simple reason that they are more likely
to listen and pay attention to what other people are saying. By
taking a backseat, introverted leaders encourage others to
suggest ideas, contribute actively and take initiative, thus
increasing morale and motivation.

As stated in the passage, introverted leaders contribute to
increasing morale and motivation by:

1. dominating conversations and ideas

2 being outgoing and charismatic

3. encouraging others to suggest ideas and take initiative
4 socializing and networking effectively

Read the following passage.

Even researchers are finding that introverts make better leaders
than extroverts for the simple reason that they are more likely
to listen and pay attention to what other people are saying. By
taking a backseat introverted leaders encourage others to
suggest ideas, contribute actively and take initiative, thus
increase morale and motivation.

Introverts make better leaders because they are

1. interested

2. attentive

3. attention - seeking

4 alluring
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92.
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The smallest composite number is

ATA BICI HIoT (JAYdT) AT TG 3

1. 4

2. 3

3. 2

4. 1

Additive Identity

ARNHAS dAATS FcT TG o
1. -1

2. 0

3. 1

4. —a

General form of a rational number

1. p/q, p and q are integers ,q # 0

2. p/q , p and q are integers, q =0

3. q/p, p and q are integers ,q # 0

4. p/q, p and q are whole numbers , q =0
3ARAT JJAT BT ATHAT FHU 4G o

1 p/q,pSﬁ? qC[\Uszﬁg,q;tO

2. plg,p3R qEIEF, q=0

3 p/q,pSﬁ? qC[\Uszﬁg,q;tO

4. plg,p 3R qEIEF, q=0

Which of the following is a FALSE statement
A Ig HAA Il o

1 log, xy = log, x+ log, y
2 (am)n = amn
3' an = arn
a" a
4 log, x™ = m.log,x
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96.
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98.

A cBthen ANnB =
AcBg a AnB-=

1. o

2. A

3. B

4. AUB

Which of the portion of a cake is not possible to eat?
BB A AT HOT AT BT HHT =gl 3
1. 30%

2. 50%

3. 100%

4. 120%

Profit or Loss is calculated on

1. Cost price

2. Selling price

3. Discount

4. Market price
STH AT ST P T SAD 3R U Bl STl &

IRIG A
faept aea
Jch

droile HId

= L b=

An angle of 98" is known as _
1. Reflex angle

2. Right angle

3. Obtuse angle

4. Acute angle

SHIVT Bl TG BEd o7
TRIddel BIoT

JAHABIOT
31férp BT

el BIvT / 3769 BIUT

L



99.

100.

101.

102.

The sum of exterior angles of a regular polygon
ug erafAa Igas & A1 HIvN HI AT I g
L. 90

2. 180°
3. 360°
4. 400°

Number of independent measurements to construct a
quadrilateral uniquely

U agefol garet bieiu 3maededs Fadst ATdl &t JAZA
1. 5

2. 4
3. 3
4. 1

The famous Pythagoras theorem is also known as
1. Thales Theorem

2. Euclids Theorem

3. Bhaskara Theorem

4. Baudhayan Theorem

URTg ursAmPNRA Rigid 33 o A oft Sier Stran 2
e &1 RIgia

giers &1 Ragia

HFRR Fagia

dig Rigia

= L b=

a+ {Mx h} is the formula for
2 fi

1 Mode

2. Median

3. Mean

4 Range

a+ Fﬂx h} AR A S
2 fi

digei
HeZoTd

3TpHTETH
TAR

LN e



103. In general, this will be taken on X-axis when frequency
polygon is drawn independently.

1. Classes

2. Class mid values

3. Frequencies

4. Cumulative frequencies

HAAR TR §A 3R IgsT Bl Wao Hu A Faba w=d
JAT A X-3181 T &d Bl

Bemy / ot

ad #A AT

3rrgfeRn

Rl amgfeerr

L

104.  (I+m) - (I-m) =

. 0

2. 2Im
3. P+m’
4.  4lm

105. rea of a Trapezium

A

1. 2 (1+b) sq.units
2. Ibh sq.units

3.

1
— ab sg.units
> q

4. %h (a+b) sq.units
AFcTea agafat (Shiford) &1 gsrma

1. 2 (l+b) oo sepr3aT
2. 1bh aof SHISAT

3. %abanfs'cmg'eﬁ

4. %h (a+b) ToT SHTSAT



106.

107.

108.

7 rl+7r)is the formula for
. T.S.A of a sphere
. Volume of a sphere
. C.S.A. of a cone
. T.S.A. of a cone
(zri+zs) ST g AE
1 IMATBR AT BT Fh
2. TUH INict B 3T
3. 9 &1 Ut S
4. 9P BT AU SBA

1
2
3
4

0

In a sector 32 X2nr represents

00
Area
Circumference

Length of the arc
Diameter

xO

S orxm ®I T

Prafetaz (=eis) #
Rp
af3 ey
1T &I ddTs

(52102}

'PP!\’!“E%]PP)!\’E

The volume of the largest right circular cone that can be cut
out of a cube whose edge is 7cm.

1. 89.83cm

2. 100 cu.cm

3. 89.83sq.cm

4. 89.83cu.cm

AGH TS ¢ A AP BT A oA UH &1 A Pler

ST AbdT § orAswT et 7330, 3l
1.  89.83A.4.

2. 100 A.=0.

3. 89.83 ao1.A.F.

4 89.83 Tel A.A.



109.

110.

I11.

The perimeter of a regular pentagon is 100cm. The length of
its each side is (in cm)

1. 20 cm

2. 15 cm

3. 10 cm

4. 5cm

U ferafda dasgst &1 uRoma 1007, 3@ T s
ST B oiarg (A.#1) B ugaiferv|

1. 20 A. 3.

2. 15 A 0.

3. 10 .30,

4.  53A.F.

A die is thrown once. The probability of getting a Prime
Number is

TP URAT Bl UHAR Bhal (STl TR U 31T ASAT B

TRl I8 3
1.2
6
2. 1
2
5. 2
2
4. 1

The point (0,— 4) lies on

1. positive X-axis
2. negative X-axis
3. positive Y-axis

4. negative Y-axis

feig (0.-4) T&A @1 Tl Ig B
gellcHD X- 3181
VMcAD X- 33T
&ellcHD Y- 3181

HVMcAD Y- 331

sl .



112.

113.

114.

115.

The slope of line joining (0,0) and (+/3,3)
feig (0,0) 31 (+/3,3) B TrcTAarett 35N BT @errel g 3
L. 3

2. 3
3. L
3

Which of the following is NOT a trigonometric identity
oA A I Drptufadia gof wsfiweor « gl 3
1. Sin*0+Cos’0 =1

2. Sec’0 —tan’0 =1for0 <0 <90’
3. Cosec’0—Sec’0 =1
4. 14+ Cot’0 = Cosec’d for0< 0 <90°
Sec A (1-SinA) (Sec A +tan A) =

1. 1
2. 0

1
CosA

4, tan A

The author of “ Siddanta Siromoni” book which consists of
4 parts like the popular “Leelavati Ganitham”

1. Srinivasu Ramanujan

2. Brahma Guptha

3. Aryabhatta

4. Bhaskaracharya

Frgid RRIs eer & wafar & 3
1. siiferar AT

2. d@g«

3. 3mfce

4.  oRpRET



116. As Leibnits stated ‘Music is modern internal practice of
arithmetic without knowing that behaving with numbers”
1. Utilitarian value
2. Moral Volume
3. Aesthetic Value
4. Disciplinary Value

eliaferst dga & ST, A3 A fereree serema A
gId @1 fopen St sngfers 3niaRe 3idorvrdia 13T &t
FHolld 31 Ig P A eI Bl Jfad HdT gl

1. 3u=lEr gea

2. Sifas Jqea

3. HAHAS J

4 TS RMTHAATHD

117. Deductive method from Generalisation to specific is

introduced by

1. Comenius
2. Armstrong
3. John Dewey

4. David Horsburg
gogla AdAfHe v 3 fafdre faue a6 @

erTe ugld &1 IEua el
1.  PHAREA

2. 3THZE

3. of g3

4.  fs gdef

118. Generally, the percentage of learning by ‘writing while seeing’
in ‘Multi Sensor Approach’ is

ag JAd<l giepior A I3 gu forse A Areea: e

BT Ufderd I8 3
1. 30%
2. 50%
3. 70%
4. 90%



119.

120.

The proposal to start mathematics clubs in the schools was

initiated by

1. 1835 Macauley’s minutes

2. 1952 Secondary Education Commission
3. 1986 National Policy on Education

4. 1946 University Education Commission
gogicl Ugel UTGLNEAI3il #H I1MTd IeTd 5 Pt HicTe
Jama fe=ml

1. 1835 AbIt &I frem womet|

2. 1952 AreafHas fRrem 3Nl

3. 1986 I farer =Nt

4. 1946 faeafdemera smenon|

X class Public Examinations are belongs to the following type

1. Formative Evaluation

2. Summative Evaluation

3. Diagnostic Evaluation

4. Progresstic Evaluation

SHA! B2l Bl Aldolteldds UNRE A Ao A Fdfa 3l
1. ITCAIHSD Hedidhel

2.  ARIQAHSD Hcdibel

3. FerEEs Fqeide

4.  woraefe Feide



121.

122.

The motion of a ball along the ground is

1. Rotational motion

2. Rectilinear motion

3. Rectilinear and Rotational motion
4. Periodic motion

ST TR edddl dig Bt I1fd

1. goff ofg

2. I=J o1t

3. 3 3 goff orfa

4 glete Tt

A block of wood is kept on a table top. The mass of wooden
block is 5 kg and its dimensions are 40 cm x 20 cm x 10 cm.
Find the pressure exerted by the wooden block on the table top
with its sides of dimensions 20 cm X 10 cm. (g =9.8 m/sz)

Aol & HUR TP cISD! BT IJCHI THT 9T gl bS] Bl
B! BT GHATS 5 [Bealand g 3R FADI 3TAH

40 AFA x 20 A x 10 A F1 5@ AT & HUT Abst
W1 JCHT Fidl IAD! U3 BT 3R=TH 20 x AAT 10
A gl Al AS P HUR TABS! BT IJCHI gRT STAT IRAT
gd1d $1d Bifee|

1. 612.5Nm™
2. 612.5Nm’
3. 2450Nm*

4. 2450Nm™



123.

124.

Sound can travel through

1. vacuum

2. solids, liquids and gases

3. only solids and liquids
only vacuum and gases

aa%r Selch HATEIH A AT BT Ahd! 8l

)

2. O, a3¥a 3R SRf ueref

3.  ad oA Td avat gerf A

4. A, Bad ag H

Select the correct match of following groups (X) and (Y)
Group (X) Group (Y)

1. Absolute refractive index a. n sini=n,sinr

1. Relative refractive index b. n=cl/v

iii. Snell’s law C.

thickness of slab
thickness of slab - vertical shift

iv. Refractive index of a glass slab d. n,, = % = '%
2 1
T (X) 3R (Y) A JFl =i ghem

Ag (X) g (Y)
1. ferruar sruadeica a. nsini =n,sinr
2. AT 3Uddeic b.n=cl/v
3. T o1 for=e c. Bid & TG B! A
A9 Bl HAlCS-31ed1eR ST

4.  oig P TG BT UAdeD d. n21=%=’%
2 1

i—b,ii—d,iii—a,iv—-c
1—a,ii—b,1i—c,iv—d
1—c,ii—d,1i—b,iv—a
i—d,ii—c,ili—a,iv—b

sl



125.

126.

127.

The unit of magnetic flux density is
1. Weber

2. Tesla

3. Newton / m*

4. Newton / m’

JABIT TATg Teled Biciu ATeId

1. a@R

2. &

3. e/ uH

4. wed /wH

This is NOT a member of the solar system
1. A constellation

2. A satellite

3. An asteroid

4. A comet

g ARFHSA BT A T8l g

1 &1y G

2. 3WIg

3. SN

4 gFEDY

The impurities present in the ore is called
1. Gangue

2. Flux

3. Slag

4. Mineral '

wadl arg A Rera sy ag wgeal gl
1. omr

2. oo

3.  CIgHAAHA

4.  Hferor



128.

129.

130.

131.

The chemical change among the following

1. melting of ice
2. burning of coal in air
3. freezing of water

4. heating of hack saw blade
foreet TR & @ o aRada

g% 1 Rreeten
BIIA Bl gaAT A ST
STeT T Jeelel
3fTFATeAS Bl IH Pl

= L hoE

The bond angle of NH, molecule is

NH, 319 & del PIvT Ig 3|
1. 120°

2. 180°

3. 107°48'

4, 104°31"

A solution contains 40g of common salt in 320g of water.Then
its concentration in terms of mass by mass percentage of the
solution is

U HicT A 40 ITH UTell & 320 ATH ATEMROT THSP 3|
AT Hfderd & deHd A sH® e Aigar 3
1.  10.1%

2. 10 g.

3. 11.1¢g

4. 11.1%

The natural fibre among the following
1. wool

2. nylon

3. PVC

4. polythene

foreet foRaa & 3 Taenfaes emom a1 B
1. el

2. el

3.  UWdRd

4. Uil



132. Select the correct answer indicating the increasing order of the
following fuels on the basis of their calorific values

i. LPG
il. Diesel
1ii. Wood

1v. Hydrogen
R fRU o1 SeEl B I AR HE P YR UR 3RIE!

A gorfd g 3R gl
1. (€ §=) vash.
2. o

3.  c®st

4.  gIsgioE

1. i, il iii, iv

2. il i, i, iv

3. v, iid, i, i

4. i, did, 1, iv



133.

134.

Correct match among the following

Group A
1) Biotin
i1) Tocoferol
1i1) Niacin
1v) Thiamin

foreer A I NSl ugEnterw
HHg A

i) arRnfea

ii) SlpIthTed

iii) fereni=

iv) Rrenfae

1. i-a,ii-b, iii-c, iv-d

i-b, ii-c, iii-d, iv-a

i-c, ii-d, iii-a, iv-b

i-d, ii-a, iii-b, iv-c

Sl el

Group B
a) Beri beri
b) Nervous disorders
c) Fertility disorders
d) Pellagra

g B
a)aﬁ'aﬁ
b) dsit Fdeh FH=U
¢) ustelel Haeh R
d) Oetran

The first sharp sound of the heart “LUB” is produced due to

1. closing of tricuspid and bicuspid valves
2. closing of pulmonary and systemic valves
3. closing of tricuspid and pulmonary valves
4. closing of bicuspid and systemic valves

ged A ugelt ‘@@’ (LUB) eafel 3cueet gl &1 BRUT I8 3

sl .

3R 37T 38 BUIEHI3N BT dg il
HHEHA 3R FAglersTel Hufewai &1 ag gienl
3R 3R FHEHRA HUTCHI3T Bl o el
3N 3T FAGIETH BUTCHI3N @bl I glel



135.

136.

137.

Lichen is an example for

1. Parasite

2. Insectivore

3. Saprotroph

4. Symbiont

AiRFel SHBT UP ITEI0T &
1 UGl

2 PHlcHal

3 AuTeTs

4 Agolae

‘Body building foods’ among the following
1. rice and wheat

2. milk and fish

3. groundnuts and til

4. papaya and mango

oA A RR feraAfor & zmer uarel’ 3

1. 9ad 3R g

2. g 3R #Awel

3.  Forhett 3R foae
4.  Udiar 3R 31H

The phase of cell cycle in which cell organelles divide
1. G1 phase

2. S phase

3. G2 phase

4. M phase _

PIfIBT Th b A TIUT A BIBIC fIHITSIT it B
1. G1 Tzur

2. S T=OT

3. G2 T=0T

4. M TROT



138. Antibiotics are not effective against

1. typhoid
2. cholera
3. tuberculosis
4. small pox
A U3 ATSHhIATS THTA! ST A BIH 151 pdTl
1. cISWhISs
2.  3em
3. I
4, TP
139. The odd one with respect to marine fisheries
1. Sardines
2 Silver carp
3 Bombay duck
4. Mackerel
Ug AHG AR UTeTel JeNoT I gite A et 3
1 aifgaa
2. oo ord
3. QI s
4 At

140. The concept of “Ecological pyramids” was first introduced by
1. Charles Lyell
2. Charles Darwin
3. August Weismann
4. Charles Elton
ool TR Ugal ‘uRRefas fURfds’ ot sraamrom ot ot

g
gred oo

gred sifde
3R AAA
Uled Ueed

L



141. Cone shaped trees with sloping branches are normally seen in

1. deserts

2. grass lands

3. mountain regions
4. plains

3ﬂﬂ?ﬁ?waﬁ§‘ésmsﬁmﬁs@3masﬁgaa

1 e
2. 9 & g
3. uUdd9 &=
4. HSME
142. Incorrect statement from the following
1. Chromosomes are composed of DNA and proteins.
2. DNA contains the information necessary for
constructing cells.
3. Functional segments of DNA are genes.
4. DNA is present only in the nucleus of the cell.

A A I IeId B 3l
1. @I, DNA 3R iida & et Fvaeny 3l
2. SRRt & feefor Hfaw smaeae SeerR)
DNA 3t 8l
3. DNA & fparcHes &l Siie Pgd Bl
DNA daet Pif2hT & g A §t giar 3



143.

Assertion (A): Many young people get acne on the face
during puberty.

Reason (R): During puberty,the secretion of sweat
glands and sebaceous glands increases.

Choose the correct answer

1. A correct; R incorrect

2. A incorrect; R correct

3. A and R both correct; R is the correct explanation for A

4. A and R both correct; R is not the correct explanation

for A
Hee (A) TRz & QIRTe, 31ferpier fhenizt # a5

TR HgrR feret ammd B
HU (R) fpeiRmazen & R, dia ot sl 3iR
THATHY AR BT S I SIIdT gl

TE FAATE ghetu|

1. A FE 8, RIed Bl

2. A TG EE, RAS B

3. A 31R RcEl J§ TG 3, R, ABI TG
=T 8l

4. A 3R R T IS 3, R, A &1 TG faa=or =131 31



144. These seeds disperse through air
1. Drumstick
Xanthium
Castor
Balsam

2
3
4.
3 et gar & A A fafa gla 3
1 HAgoTel

2 wifceraa

3 3RE

4. I Agal

145. The first and foremost skill required for the scientific

experiment
1. estimation
2. observation
3. conducting experiment
4. measuring
AsTiferep SRIOT BIATU 31D ATA UGl HIAA
1 STe]ATel eTolTell
2 3Taciide
3. U1 Sl
4 HIEAT

146. The last step in the Psychomotordomain

1. Imitation

2. Precision

3. Manipulation

4. Naturalisation

TG ANIIATUTHS 33T A 3ifdsdr a=vaA
1. 3D

2. Jeadl

3.  gxdadlod

4.  FHBIOT



147.

148.

One of the following is NOT an Academic standard as per the
State Curriculum Framework - 2011

1. Conceptual understanding

2. Creativity

3. Information skills and projects

4. Concern to biodiversity

IS R8T Alete SR 2011 AR foreat fafea & 3
TP TG N21Ip HATAD Igl 3l

1.  vausar

2.  JoTeITcHSBd

3. el BieT Td GRS

4. g [afagar & /ar

“Student gives reasons for water pollution.” — Instructional

objective of this specification
1. Knowledge

2. Understanding

3. Application

4, Skill

“ B3 SicT IGUUT & BRUN Bl ITSAT HIdT 57— 3G
TIBI0T BT A21VB 3G IF Bl

1. SiTel

2. srefumgmEr

3. 3T

4. oI



149.

150.

According to Kilpatrick classification — “Project on collection
of plants and animal products and parts” is a type of

1. Productive project

2. Utilization project

3. Problem project

4. Training project

fperifees aoffezor & 3R, “Aiel 3z Uyl Scurg sl
P Hug’’ A uldierer & 3idaoid 2l

1.  3deH UGSl

2. 3ugifrar uRieten

3. AT URrSten

4. ufdreror uRisten

Learning percentage through smell

3ier & gRT Ut FWHa &1 ulderd I8 3.

1. 11%

2. 3.5%
3. 1.5%
4 1.0 %



